Chord Properties

Name Theorem Hypothesis Conclusion
S -~
DB = AC
Congruent Angle- Congruent central Fherelore
Congruent Chord angles have congruent .
Theorem chords. DB 2 ac.
p— o
v DE = Aé
Congruent Chord- Congruent chords have 4heve fore
Congruent Arc Theorem congruent arcs. Y oM A
PR = AC
LD0B = B
Congruent Arc- Congruent arcs have o
Congruent Angle congruent central ZRA0C £ Ac
Theorem angles.

Example: Find the measure of arc HY and HYW.

NIt S
124°, 3(00-!24: ‘I )
0 e A Tw= 113 +124 = 242°

Example: Find the measure of angle DEF. y+ 5’

53'*'5 373—43
L[g=23
3 RY = y

(K

Example: Answer the following:

YA

1. It mAB = 10° find mBC =\ 10 °

2. 1 mAC = 150°, tind mAB. = |0 *

-850 =210
20 - | /z |




Name Theorem

If a radius or diameter is
perpendicular to a
chord, then it bisects the
chord and its arc.

Diameter-Chord
Theorem

If a segment is the
perpendicular bisector of
a chord, then it is the
radius or diameter.

Converse of Diameter-
Chord Theorem

Hypothesis Conclusion

F

A Fe = G
5 T

G

h T o a ddamnete
: ’ bfc & o F@ i

G a - pecter

Example: Find the measure of HT. Then find the
measure of WA if you know X7 = 6.

H

Sx-| =X+ S

E¥= b
X=3

HT=3&)-1=8
3+ =l

Example: Find the measures of arc CB, BE, and CE.

4x°

8 A D
(80 — x¥°

E

4x = 30 -X
Sx =30
X=1l

Ce = 400) = 04
GY°

it
‘g = 64+6Y =128"

Be:




Conclusion

center.

Name Theorem Hypothesis
—_— N‘——'-‘
If two chords are Tk b = XY
Equidistant Chord congruent, then they are Fhe
Theorem equidistant from the _— —
PR = AR

Converse of Equidistant
Chord Theorem

If two chords are
equidistant from the
center, then the chords
are congruent.

Example: Find EF.

AL 12 N8

Fx-8 =3x
-8 = Uy
2= X

EF = 2(2) = (




Geometry Name
Homework

Find the value of the indicated arc in ®A.

1. mBC C 146° 2. mBD

m 3( 0
~1y
4 Qlk}/ﬁ
B

3. mBC B 4. mBD
620 lgo
— b
B —
c g
D

6. mé—l\)
Find the value of x and/or y.
7. 64° 8.
Y
X\ 4
10. AB=32




Geometry Name

Homework
11. - 12. 4x -1
(GX' )0 ’ o2 = bx-2 17, | = Y x-I
“ S4=0bx 1% =4 x
EE
ty-lf?- -3

13. :
10 ,(‘\ . 14
w Yxrl=2x+ IS
2x=
X

b nﬁ'o 2= x*+ 10"
3x-1=Fx-12 4zx"
!C,,(P’:,)( ,

| 2= Y

16. Find the measure of ATB in each diagram below.

5

a. b.
=1
“+an >
B =260
s 3 °53.1°
< B o
B = 150 -53. )

In problems 17-19, what can you conclude about the picture? State a theorem that justifies your answer.
You may assume that A is the center of the circle.

19.




